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Question 1. (45%).Circle- the most correct answer: 

l. The slope of the line passes through t:b.:e two points (2, --4) (6, -1 is: 

(a) -:15 

(b) _:5 
( c) ~ 3 

~d t. . ' r._1,~(-1 -34 \)= ~- _.17evermmant or .i:rne matrix -? 
\ ~ 

(a) 5. 
~ -5. 

__......@-11. 
(d) None of.the above. ~ 

3. The solutio~ation (x+2)2+10~1 
@ No rea:l: soumons. 
(b),,-t<-1} 

~){3-,--3} 
(d) {-1, 1} 
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11 -1 ] r, (2_ 1 r2 --YJ/ 
L2_ J "L -Jj l2 0) 

~3 ) , then A - BT = ( 1 -1) ( -.l s. If A= 2 3 ,B = 2 

(a) (AB equals (AB) for any two matrices. 
(b) ~lJ - A) equals (A - B) for any two matrices. 
'2(A(2CB) equals 2A.(..CB) for any matricesA, B, C. 4i If (A~) 7,1~ zero matrix, then either A or B equals the zero matrix. 

7. Thee~: :2_- 4x = 0 has '/-. ( 'f. -·~') 
(a)r o, x = 2 solutions. 
@ x = 0, x = 4 solution~ 

/ (c) x = O, x = -4/Jc1f(ons. 
(d) x = 2, x7 solutions. 

8. The functiefi u = 4x - x2 has: 

~ 7rGmun~ at x = 2. 
(%) Maximum at x = ~. 
/(c) Minimum at x = 2. 

(d) Minimum at x = ~- 

CT-; JG 
·- q - lb 

5. IfB= ( ~ -;1 ),then~B2= 

( ) ( 2 2 ) 
a \ 8 18 

~2 3~: /c) ( re 17) 
(d) ( ;; ;; ) 

6. which one oft, following statements is ALVv'AYS true: 

2 



has 

(a) x -- ·~nterc~ y - intercept= -1. 
(b) x - i~cept = 2, y - intercept = -1. 

(c) x --1!,nte;·ce'Ot = 2, y - intercept= -2. F- interce;t = 4, y - intercept = -2. e:»: Ix) f4) 
14 The followu~\ ~ 6 ~ }(; 

1 
=U, 

@)n-"~ly many solutions . 
.Ab1 No solution. 

(c) x=4, y=O~O. 

15. The followin~ represents: 
~/ @/.?.E-2+3 /-b) Jx+2-3 

(c) ,/x+2+3 
(d) Jx-2-3 

2.Y.. ~·) ~ -: -l 
-~ ·rt- ·1- ·1' :: 3 

) '/.. -;: -)- 
1'. ?'I 
9_,,-,)/---;;--\ 

-? 7 -:; - 5 
'7 s: ' 

1) f-1 5) '. _1 = ~ 3~ 1 , then': 

,,~ f_ "S) -\" > - ] . 
I .-2 7 -J -;o 

·-~ + I 
.\--' -\ 

3 

13. The line ~ - y = 2 , has: 

10. The two lines- L1 : 4x - 5y = 6 and L2 : 8x - lOy = 12 are 

(a) Perpendi~1=-- 
(b) ~Je-r 

~-1aentical. 
· (d) Neither. 

11. The solution set of the equation (y + I)(y - 3) = 5 

(a) {1, -3} 
@{-1,3} 

@{4,-2} 
(d) None of the above. 

( x 4 'j4(~' 12 T£ 2 I ,'J 
.l • .Ll \ 0 -v-v x - 2 @:4 y=l. ,%J~=-1, y=l. 

(c) x=l, y=-l. 
(d) x = -3, y =-~ -;5. 
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1. Vertical line passes through the point (-3, -5) . 

7 /7{' 4; ~ ~'~ f- 

( //' 2)~·~ (X'-rl) 
' ~ 

5 ~ x •·<> . .l--2 q ~ ·1 
c- 2- 

3. passes through the point (-1, 2) perpendicular to the line 3y - 2x = 4 

y - intercept = -3. 
II 

2. its x - intercept=.=..±: 
5 lot:?(: :: o 

Question 2. (16%). Find the equation of the line in the following: 
1. passes through the po·.m ( -1, 2) and has slope= -3. 

~ ,- >i } z: 11'1 ]-_ ,. ?( I) 

7/2- ::: -) l1'--1) 
7~:2- ~ -)"f,. -3 
7;;: -J ~ - ' 

v\ 



6. Graph the function; 

\G - L\ X ~ '/.. \ 
~-1 ~ ..... io 
-; - l.\ 

t'J() re~ 

5. Find the x-isitercept: 
1- t\ x. tS z: x -- 

/ 

4. Find the y·intercept: 

~ ~{r; l ;'~(&Jt-5 
1~ 5 

L Q J s 

( 2; \) 
3. Find the axis of symmetr!Ji: 

1. Is the graph of the function opens u 

~ P< {\ C1 p Wt\ 

Question 3. ( 17%). For the [unction y ~ x' Lrmine the [ollounnq: 
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I 

i~ /) 
J::::- '1 
Z- -i: -1 

~

80 
0 t 
0 0 

Question 4. (10%}. Use the Gauss-Jordan elimination to solve the follow-/ 
ing system: " 'J + '? 2. --- er 

( 1 3 3\(x) (9) l'k-.1_ - 
0 2 2 ) . y = 2 . + 6 --\- JJ -)-",. r-· 01 
0 -5 -3 z -7 



J(x) = - Ix - 2 I 

~ /2x+3y = 2 
~ 2 / 3x + 2y = -2 

~~ -t·q/ -: ~ 
- 6 x ,.+ -l-\7 ~ ~, 

<, -~~~-Jf 
~~ 

'2f-- -\-' J (2-) -z: 2 
--\- 6 ~2 ,... - c., 
~-2 

Question 6. (6%). Sketch the graph of the following Junction: 

7 

_Question 5. (6%). . solve the following system: 


